=) B 53 5] = = =] T ] 3
@ Lsu @ Lsu
20 1 28 1@ 1@
vco vco
2= oo eNo AL —Ber—=pe ez Z —Ber—=pe ez Z
P22 ™ BND =S —oe= 4Pl Ble rd —oe= 4Pl Ble rd
) = e —oex =|b2 B2ihp =3 —oex =|b2 B2ihp =3
£2 = Aind Aoutd 5= —Ee3—={D3 O3 |[j= = —Ee3—={D3 O3 |[j= =
2] o t2 Des 2] o t2 Des =a T|Ainl Aoutl mos —oes 7 IPE Biria 3 —oes 7 IPE Biria 3
Zlaz Bz LEL Zlaz Bz LEL == ALnS Aouts b —B8s S lpe oe 2 2 —B8s S lpe oe 2 2
263 B3 |ge——pes 263 B3 |ge——pes £= Z- GhD % 52 — D7 @7 & — D7 @7 &
£ |A BiIiaroea £ |A BiIiaroea =@ GhD X e 11 . — 11 . —
SHAS  BS o pe= SHAS  BS o pe= He = Din@ Doutd = oK OE [t o1l — ok OE pl—o NS
50 ES[= _Des 50 ES[= _Des = 2 pinl Dousl e U1 CN-1@P uls CN-1@P
= 1_Cev = 1_Cev d g |Din2 Doutz s e e
RS BS RS BS = Din3 Dout3 74574 74574
o o o BND BND
e b e b
1 STDB 1 STDB 0= GAINER—MINI o o
o = ARDUINO—NAND .y .y
74245 74245
18 ] 18 ]
=" - N proneyey I L > =" - N proneyey I L >
CEL = = = CEL = = =
— D1 @1 — D1 @1
L 0 —ee b2 o2 £ —ee b2 o2 £
= | Min fba 7o = R S = R S
= Dout ADL & = —fe=——1D4 473 3 —fe=——1D4 473 3
Din ADZ = — DS @S — DS @S
3 7 = DBE & = = DBE & = =
= Doz ADZ HZ& = Ce=—={D& GE = = Ce=—={D& GE = =
= Resst  ADE 1= = — D7 @7 T — D7 @7 T
1 1 7 ADS Mg = 11 1 11 1
= 2] 5 2 DEo = 2] 5 2 DEo Sfam Yrefs 7 'tk DEP 1 [=/NER-] 'tk DEP 1 CHie
. % nheee . % nheee e RspT : e T e
[ S S CDE= [ S S CDE=
A4 B4 A4 B4 GhD ShND
S = 3 Db4 S = 3 Db4 s
S BS AS  BS s
3 7185 BS[O=E oes 3 7185 BS[O=E oes AE_REEE 2
2 g a7 o7 L=—DBS 2 g a7 o7 L=—DBS 2 ey P 4su
2 S 1_CEv 2 S 1_CEv 3
AS BB AS BB
T T S
2= 2= = 1@ 1@
o I o I
’3“221 U aroe ’3“251 U aroe z Z oo ool =z —DB@ 2 ho goiZ =z
ch-ter == ch-ter e = 2o g1 8 = —BL 2y gr B =
BND BND 17 | — 1
7az4s 7azas5 20 S1BE BEHe = Toes SRS BEHE =
Iecrs woc S s a7 2 —BP84 & lpa ga g 2
= |AinT DB@ rme PROPSTICK = |02 BSOS = == Rl v =
S Aine CEL =D& BE o bl Ee>—=0& GE& 15 bl
AinS DB2 D7 @7 — D7 @7
S |Ad 1 1
& |Aind DB3 11 — |1 11 — |1
RAZ3RA-5 RAZTRA-5 = AinZ DE4 K OE [o— NS L OE P N7
g |Ainz DBS UiE ChN—18P Ui ChN—18P
Ainl DB& [Sg——
Ain@ DETHS—— 74574 7 74574 7
Uref = BEND BEND
2 2 DE® 2 2 DE® | AGND 2 WEE =
Al BL Al BL Stat —
=y i B1 =y i B1 ==y aLE :.’V 'e'+5'v' 'e'+5'v'
3 1az B3z LeDE= 3 1az B3z LeDE= 2 I5END  CLK e
5183 BXrs oes 5183 BXrs oes sMD =
173 Bilia oea 173 Bilia oea e 1@ 1@
7|82 E2[OZ oes 7|82 E2[OZ oes MAX1E1 s _Dbea =z [ -7 olis = _Dbea =z [ -7 olis =
] > Dbo ] > Dbo DEl = B B DEl = B B
A7 B7 A7 B7 TLPSS2 DI @1 D1 @t
5187 Bi[i1 oev 5187 Bi[i1 oev oez 210l Blre 7 oez 210l Blre 7
a a s SR s SR
e I e I D& @4 D& @4
1 1 DES 7 3 3 DES 7 3 3
ATOB ATOB 1 oBs o157 P[OS = oBs o157 P[OS =
uz= uz7 [w]=ird S e e = = [w]=ird S e e = =
U7 1 1
74245 74245 = W 1, W 1,
—— Kk OE [o— cnta —— Kk OE [o— cnis
Uia CH-1@FP Uis Ch—12P
74574 7 74574 7
BND BND
4
111 31 o
=12 32 a2
21 B (H2LEO 21 B (H2LEO 21-3 -3 a5
a4 |f2 B2e ez a4 |f2 B2e ez s |13 2-das
=AZ B3I = Tps =AZ B3I = Tps = 1-5 3-Si3e
a4 B4 5 Den a4 B4 5 Den ={1-& 36 4o
=195 EBS[h= roes =195 EBS[h= roes 5 |1-7 3-7Iag
AE BB AE BB 1-8 3=
B > Dee B > Dee [as
A7 BT Ttee A7 BT Ttee 1-% -5 =5
AS BB AS BB 1-i@  3-10 =%
_ _ —H1-11 3-11 =
2o 2o 2li-iz -1z (22
HAaTos HAaTos S 1-13 313 =25
Z4 == ] i:i; %:i; ==
74245 74245 S 1118 3-1& ==
T i-17 317 2L
Slicie z-1ef2S
5] 1-15 3-19
291120 3-z0[29
1121 321
‘% 1—22 Z-22 %
=3 1-23 32325
S={1-24 3-24 =
£211-25 3-25[22
==11-26 3-26 2=
S 1-27 3-27 [en
Se1-28 3-=28
22 1-2% 3-2%
s1-30 3-30 <
S 1-31 331 ==
S5 1-32  E-32 55
2211-33 333 <3
S21-34 3-34 <=
1-35 3-35
) 7E
=1-36  2-3& ==
1-37  3I-37 =%
=S11-38 3-35 <=
S5 1-3% 319 5
1-40  3-49
Sie-1 =211 (2h
2-2  =2-i2
53 =
2-3  2-13
B84 3
2-3  2-1a
55 S
2-5 215
=) &
2-6  =2-16
57 7
2-7  2-17
=] ]
2-2  =2-1g
55 ==
o2 2-19 do
2-ip =z-zo
U1
AKI-HS
[l ]
R Bit {EE #E
Title Number
Size Revizion Pagze




